Solving inequality using addition and subtraction

1)

2)

3)

4)

X+2>=-3

1>x-9

X+4<3

X+3>7

m+8>12

-11<y+5

X+4<5
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8) -8>d-7

9) z-15>72

10) h+19<15

11) -45>g-16

12) f +1>-8

13) b+25<25

14) a—-10.2>5.3

15)t-7<34
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16) 18.1< p—7
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Answer Key



Solving inequality using addition and subtraction

1) x+2>-3
X+2—2>-3-2 subtract 2 from both sides
X>-5 simplification

solution: x >-5
O

-11-10-9 8.7 -6-54-3-.2-1 0 1 2 3 4 5 6 7 8 9 10 11

2) 1>x-9
1+9>x-9+9 add 9 on both sides
10> x,x<10 simplification

solution: x <10

-11-10-9 -8-7 6-5-4-3-2-10 1 2 3 4 5 6 7 8 9 10 11

3) X+4<3
X+4—-4<3-4 subtract 4 from both sides
x=<-1 simplification

soulution: x<-1

—0

-11-10-9 8.7 6-5-4-3-2-1 0 1 2 3 4 5 6 7 8 9 10 11

4) X+3>7

Xx+3-3>7-3 subtract 3 from both sides

X>4 simplification

solution: x >4

-11-10-9 -8-7 6-5.4-3-2-1 0 1 2 3 4 5 6 7 8 9 10 11

5) m+8>12

m+8-8>12-8  subtract 8 from both sides

m=>4 simplification

solution: m>4

[ 4

-11-10-9 -8-7 65 4-3-2-1 0 1 2 3 4 5 6 7 8 9 10 11
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6) -11<y+5
-11-5< y+5-5 subtract 5 from both sides
-16<y simplification
solution: -16<y

S
-16 i ; o [s] v v N v i 16
7) Xx+4<5
X+4-4<5-4 subtract 4 from bothe sides
x=<1 simplification

solution: x<1
—eee(7)

P ——
-11-10-9 -8-.7 6-5-4-3-2-1 0 1 2 3 4 5 6 7 8 9 10 11

8) -8>d-7
8+7>d-7+7 add 7 to both sides
-1>d simplification
solution: d <-1
-—

—— ——t—
-11-10-9 -8-7 6-5-4-3-2-1 0 1 2 3 4 5 6 7 8 9 10 11

9) z-15>72
z-15+15>72+15 add 15 on both sides
z > 87 simplification

solution: z =87

10) h+19<15
h+19-19<15-19 subtract 19 from both sides

h<-4 simplification
solution:h<—4
Tides ey 6 esaa0 Lt a5 & s smn

11) -45>g-16

-45+16 > g-16+16 add 16 on both sides

-29>¢ simplification

solution: g <-29

S-S . .
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12) f +1>-8
f +1-1>-8-1 subtract 1 from both sides
f>-9 simplification

solution:-9< f
[

+—+ —+—+ +—t—tt +
-11-10-9 8-7 6-5-4-3-2-1 0 1 2 3 4 5 6 7 8 9 10 11

13) b+25<25
b+25-25<25-25 subtract 2.5 from both sides

b<0 simplification
soulution:b <0

—

t—t—t
-11-10-9 8.7 6-5.4-3-2-1 0 1 2 3 4 5 6 7 8 9 10 11

14) a-10.2>5.3
a—10.2+10.2>-5.3+10.2 add 10.2 on both sides
a>15.5 simplification

solution:a >15.5

Oy
15:"“:; + 15""
15)t-7<34
t—7+7<3.4+7 add 7 on both sides
t<10.4 simplification
solution: t<10.4
—t—t—1rt —
1105 87 65 a3210 1 2 35 4 5 6 78 5 1011
16) 18.1< p-7
18.1+7<p-7+7 add 7 on both sides
25.1<p simplification
solution: p>25.1
—r——t——— ——r—r— ——t— r— r— — —

251 0 251
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